
041002a : 7.124 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 351.701887
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041002b : 7.098 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 332.651368

0
pi

xe
ls

19
86

83
0

F
o#

10
0

041002c : 10 keV

bin size = 10
* 54.020838 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 240.932937
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041002d : 10 keV

bin size = 10
* 54.020838 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 251.196897
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041002e : 7.124 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 609.616604
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041002f : 7.098 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 282.094222
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041002g : 10 keV

bin size = 10
* 54.020838 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 211.761685
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041002h : 7.124 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 392.001062
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041002i : 7.098 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 296.748467
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041002j : 7.124 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 737.841251
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041002k : 7.098 keV

bin size = 10
* 146.542453 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 339.245779
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041002l : 10 keV

bin size = 10
* 54.020838 / 2000

gamma factor = 0.9

0 CT-value (1/cm) 325.475549
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